Yo
I

¥ 5 %

hT

S5 FEREEZERBEBRERER I TRMMREA RS

St 5 iR S
BEERE - ERBBEHMN

EE A EREE
| B ZBRHEEXR
=1 B ZBRHEEXR

B RERTE
BE&S 181223030



HENRE SIS RS A B RS R TR X

] {71 R - TRk B # B B & & m =
EERE 17,661,270
EIRITRTES 17,661,270
TR TR 17,294, 900
REHERS 17,294, 900
STEER 415, 450
1 StEERE 1.00 415, 450. 00 415, 450
=
HE - HeE 657, 900
2 =FIRE 1.00 117, 400. 00 117, 400
m
3 hRE%BE 3.00 117, 400. 00 352, 200
m
4 REWmE 1.00 188, 300. 00 188, 300
m
HBERBRTEOIMAEDBRET 10, 470, 600
5 AT 2B LUVLTERBREROER 1.00 4, 953, 000. 00 4,953, 000
%
6 Mg B TE D 1.00 5,517, 600. 00 5,517, 600
=
TRERABEHOER 3, 679, 200
T IRRAREHOER 6.00 613, 200. 00 3, 679, 200
m




HENRE SIS RS A B RS R TR X

% R R - RARSTiE B % B B % i) m o=

BEEEIXTLOEH 1, 620, 400
8 BRFHEROT—4 1t 1.00 1,253, 450. 00 1,253, 450

=
9 MEEEIRATLOESN 1.00 366, 950. 00 366, 950

=
R 451, 350
10 SREZER 1.00 433, 550. 00 433, 550

=
1 AFARRROER 1.00 17, 800. 00 17, 800

=
E#EEE 366, 370
E#EEE 366, 370
EHRARE 166, 370
12 £%AME 1.00 166, 370. 00 166, 370

=
EBRERE 200, 000
13 £BHERE 1.00 200, 000. 00 200, 000

=




NTE SHSEEERMEA B BERE LR TR TRT %S

% g R - KSR Bifr B 2 B i & B W =
E R 17,294,900 + 366, 370 17,661, 270
EEAGE 17, 294, 900
EERE 366, 370
T DR 17,294,900 x 53.85% ( 35% + (1 — 35%) ) 9,313, 303
BRI 17,661,270 + 9,313,303 26,974, 573
—REEES 26,974,573 x 53.85% ( 35% + (1 — 35%) ) — 380 14,525, 427
KBS 26,974,573 + 14,525,427 41,500, 000
HEREELE 41,500,000 x 10.00% 4,150, 000
EBEREN 41,500,000 + 4, 150, 000 45, 650, 000




Bffik-fEI/\vr—>

BHSFERMER B ERIERERETRITRARS

&5 1
&% FrEEE 1LY
2 b g - BIRTE By = B O ® # " =
HE - HiE
A 1.000 70, 900. 00 70, 900
FERER
A 1.500 62, 200. 00 93, 300
AR (A)
A 2.500 55, 200. 00 138, 000
HEm (B)
A 2.500 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
T EE L
FHE—IEWE Tl
&5 .2
¥ . BATHE HEED)
2 b g - BIRTE By = B O ® # " =
FERER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
& Hi 1YEZHER - 1.00[E 117, 400. 00 117, 400
T EE L
FHE—IEWHE  TL
5.3
& hRERE HEED)
2 b g - BIRTE By = B Ol ® # " =
FERER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400

FIHERESMEE 2 L
FHE—IEMHE - BL




Bffik-fEI/\vr—>

BHSFERMER B ERIERERETRITRARS

Hz5 .4
£ EW|E HEED)
2 b g - BIRTE By = B O ® # " =
HE - HiE
A 1.000 70, 900. 00 70, 900
FEHER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
T EE L
FHE—IEWHE  TL
F5 .5
W BRT 2B LUVLTERBREROER 14y
2 b g - BIRTE By = B O ® # " =
FEHER
A 21.000 62, 200. 00 1,306, 200
AR (A)
A 27.000 55, 200. 00 1,490, 400
HEm (B)
A 12. 000 45, 300. 00 543, 600
AR (C)
A 24.000 35, 600. 00 854, 400
g
A 24.000 31, 600. 00 758, 400
& Hi 1E%HeH - 1.00K 4,953, 000. 00 4,953, 000

FIHERESMEE 2 L
FHE—IEMHE - BL




BifR- I/ v — SIS RS A E B R B R 6 T R TR 275

&S5 :6
%5 R TEOFE 14y
2 b g - BIRTE By o = B ® W = " =
FEHER
A 24.000 62, 200. 00 1,492, 800
AR (A)
A 27.000 55, 200. 00 1,490, 400
HEm (B)
A 24.000 45, 300. 00 1,087, 200
AR (C)
A 30. 000 35, 600. 00 1,068, 000
g
A 12. 000 31, 600. 00 379, 200
& Hi 1YE%HeH - 1.00K 5,517, 600. 00 5,517, 600
T EE L
FHE—IEWE Tl
&5:7
£ TIRAEEHOER HEED)
2 b g - BIRTE By H = B ® W E " =
FEHER
A 2. 500 62, 200. 00 155, 500
AR (A)
A 3.000 55, 200. 00 165, 600
HEm (B)
A 3.000 45, 300. 00 135, 900
AR (C)
A 3. 500 35, 600. 00 124, 600
g
A 1.000 31, 600. 00 31, 600
& Hi 1YEZHER - 1.00[E 613, 200. 00 613, 200
T EE L
FHE—IEWE Tl




BifR- I/ v — SIS RS A E B R B R 6 T R TR 275

&5 :8
&% BFEEHROT—41E 14y
2 b g - BIRTE By o = B ® W = " =
FEHER
A 4.000 62, 200. 00 248, 800
AR (A)
A 7. 500 55, 200. 00 414, 000
HEm (B)
A 8. 500 45, 300. 00 385, 050
AR (C)
A 4.000 35, 600. 00 142, 400
g
A 2.000 31, 600. 00 63, 200
& Hi 1YE%HeH - 1.00K 1, 253, 450. 00 1,253, 450
T EE L
FHE—IEWE Tl
&5 :9
B REBEVRTLDERH 14y
2 b g - BIRTE By H = B ® W E " =
FEHER
A 1.000 62, 200. 00 62, 200
AR (A)
A 3.000 55, 200. 00 165, 600
HEm (B)
A 1.500 45, 300. 00 67,950
AR (C)
A 2.000 35, 600. 00 71,200
& Hi 1E%HeH - 1.00K 366, 950. 00 366, 950
T EE L
FHE—IEWE Tl




BfR-BEI/ \vr—>

BHSFERMER B ERIERERETRITRARS

&5 :10
£ MESERK 1LY
2 b g - BIRTE By = BHO(f ® W = " =
FERER
A 1.500 62, 200. 00 93, 300
AR (A)
A 2.500 55, 200. 00 138, 000
HER (B)
A 2.500 45, 300. 00 113, 250
AR (C)
A 2.500 35, 600. 00 89, 000
& Hi 1YE%HeH - 1.00K 433, 550. 00 433, 550
T EE L
FHE—REWE : TL
&5 11
2% AFEARRROER IEED)
2 b g - BIRTE By = BHO(f ® % W E " =
AR (C)
A 0. 500 35, 600. 00 17, 800
& Hi 1E%HeH - 1.00K 17, 800. 00 17, 800
FIEEEMIEE L
FHE—REMWE : TL
&5 .12
&% EHARE 1LY
2 b g - BIRTE By = BHoO(f ® W E " =
EXERARE
= 1.000 166, 370. 00 166, 370
& Hi 1E%HeH - 1.00K 166, 370. 00 166, 370

FEEMSNEE L
FHE—IEWE  TL




BfR-BEI/ \vr—>

BHSFERMER B ERIERERETRITRARS

&5 .13
& XEFERERE IEED)
£ 5 L - BIRTiE BAf = B & % i 1%
EERRMRE
= 1.000 200, 000. 00 200, 000
& Hi 1YE%HeRH 1,00 200, 000. 00 200, 000

FEEMSNEE L
FHE—IEWHE  TL




